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No BT FEE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 wmem R6.6.11 BIRE BREE9(<43) BHEE9(<3.3) BRHEEY
2 SEHNWTH R6.6.11 INEOELN BRHEE9(<3.3) BREE9(<2.0) BRHEEY
3 SEHWTH R6.6.11 Y AUH Y (EER) BREE9(<5.8) BREE9(<4.3) - Janpcc
4 ABIH R6.6.10 TRy BREE9(<4.2) BREE9(<4.8) - Janpcc N
5 HEHEET R6.6.10 R b BRHET(<4.6) BRHET(<4.9) - Janpcac N
6 FETH R6.6.11 Faol) (% BREE9(<L5.7) BRHEE9(<3.8) - Janpcc
7 ZETHET R6.6.11 Fao) (HEE%) BREE9(<4.0) BREE3(<4.1) L Janpcac N
8 S IrHT R6.6.11 Jayal)— BHEET(L5.1) BRHE9(<4.0) BmREEY
9 = RET R6.6.11 Fao) (HEE%) BREE9(<2.8) BREEI(<3.1) L Janpcac N
10 [EE= L) R6.6.10 H7T (FEE%) BREE3(<45) BREEI(<4.1) BRHET
11 B3 30 R6.6.11 BIRE BHEEY(<3.9) BRHEEY(<38) BHEY
12 eigE At R6.6.11 +X BREE3(<49) BREET(<49) L anpcac
13 L EH R6.6.11 R (FEER) BRHE9(<5.3) BRHEI(<4.6) BREEY
14 TS EET R6.6.11 Jowyal)— BREE9(<L5.1) BRHEE9(<5.9) L anpcac
15 T ERFT R6.6.11 Jayal— BRHEET(<54) BHEE9(<55) BREET
16 & WRHT R6.6.5 BIRE BRHE3(<3.6) BRHE9(<3.2) BREEY




BRERER

No 5 RERH AHDERE Iy L-134 2 L-137 BEE
Ba kg Ba kg Ba kg

17 bt R6.6.10 Jayal)— B E9(<5.3) BHE9(<49) ikl
18 RECHT R6.6.11 Jayay— BRHEE9(<5.2) BRHEE7(<45) BREEd
19 L AllE S R6.6.5 FEE S BRHEE9(<43) BRHE9(<48) BREEY
20 EJ)I# R6.6.10 BIRF BRHEE9(<35) BRHEE7(<35) BREEd
21 FHH R6.6.11 FEE S BRHEE9(<3.9) BRHEEY(<34) BREEY
22 FHEH R6.6.11 AFVTIURD BRHE9(<6.0) BRHEEY(<4) BREEY
23 [ EFHT R6.6.10 AP BRHE9(<6.7) BRHEY(<4.3) BREEY
24 [ E7HT R6.6.10 mES S BRHE9(<8.6) BRHE9(<5.3) BREEY
25 [ EFHT R6.6.10 RyF—= BRHE9(<38) BRHEY(<3.1) BREEY
26 = [ BT R6.6.10 BAIRE BRHEY(<45) BRHEY(<38) BREEY
27 = [E T R6.6.10 AIRE BRHE9(<38) BRHE9(<3.0) BREEY
28 = [E T R6.6.10 BAIRE BRHE9(<45) BRHEET(<41) BREEY
29 = [E T R6.6.10 BAIRE BRHE9(<4.0) BRHE9(<3.9) BREEY
30 = [ BT R6.6.10 ER¥ BRHE9(<45) 13.8 14

31 = [ BT R6.6.10 s BRHEEY(<54) BRHE9(<48) BREEY
32 = [ BT R6.6.10 s BRHE9(<4.9) BRHEEY(<44) BREEY
33 = [ BT R6.6.10 s BRHEE9(<84) BRHE9(<5.9) BREEY
34 = [ BT R6.6.10 Ery BRHEE9(<7.3) BRHEEY(<44) BREEY
35 = [ BT R6.6.10 Er¥ BRHEET(<5.1) BRHE9(<35) BREEY
36 = [ BT R6.6.10 AyFx—= BRHE9(<5.5) 513 5.1




BRERER

No 5 RERH AHDERE Iy L-134 7 L-137 BEE
Ba kg Ba kg Ba kg
37 = [ ET R6.6.10 A3 BrEE(<21) BRHEE7(<29) BREEd
38 = e T R6.6.10 FrRY BHET(<47) BHE(<2.9) BHEd
39 = [ BT R6.6.10 THEF (FEE%) BRHEE7(<8.2) BREEF(<ID BREEd
40 SRITET R6.6.10 YAy BHEF(<53) BHEF(<45) B
41 JRITHT R6.6.10 THheDX BRHEEY(<7.2) BHE9(<4.8) BHEd
42 EREEHT R6.6.10 SR (EER) BRHEY(<3.2) BRHEEY(<2.1) BREEY
43 BREEHT R6.6.10 BAIRE BRHE9(<3.9) BRHE9(<2.9) BREEY
44 _E™ R6.6.10 Aok BRHE9(<35) BRHE9(<2.9) BREEY
45 ARl R6.6.11 TIL—A1— BRHEEY(<34) BRHE9(<23) BREEY

BRBEEICBTA—BREROEEE 9L 100Bg/kg(E> 9 L-134, £ H L-13TDEEIE)
XKEEME: 2PV L-134Ew I L-13TDOEEMBEIZOWTIE., B F24T (LEAMSIHTEZEEREALI-EM) TRELTLET,




